normalized x?

[[normalized x? probability ]

Entries 770 r
| Mean 1.221
10 Std Dev 1.451
S —T 0.1
L, Mean 1221
10 StdDev_ 1451
Entries 775 Entries
~ . 1214 Mean 05297
10° - 1.436 Std Dev
. 0.06f- -+
T 504
! 1.207
10 / Lo
= 0.04f--:---
s 787
! 1.206
107° de. .LAZ” 0.02]
Entries 1807 Entries
Mean 1.21 n Mean 05324
0
ERE: || n'llﬂl I i i .vﬁ "'=Ii il
© i
TR ..||"|| ‘
‘,II |- |||| i 11iIf NI n- i
i AL il il
0 o. il n|-||| |II | | | || m
0 2 4 6 8 10 12 14 16 18 20 9010203 0.4 0
—— —_T000evVT X2 PrOb(XZ)
—— D _orlgma\ 10; O‘el\ﬂ h
— D
= BaN cpe‘OK 1660e
o DM P SOKSORTRZ2 1000evt
D fit_cpeOK_SORTRZ2_TESTOUTLIER3_1000evt
-

< X2/ndf>

i<

T

o

A

-

el

=

=

N

=<

v

i)

=

T 1.2

o4
1E

1

0.9
10

1

< x2/ndf>

Ratio

[y
T[T [T [T [T T T[T TIT T

-3 —2 -1
10 10 AR(track, jél’[?



	Contents
	Page 1


